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Final Exam Review: Chapter 6
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Section 1 - Integer Exponents
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Evaluate each expression for the given value(s) of the variable(s).
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Section 2 - Rational Exponents

Simplify each expression. All variables represent nonnegative
numbers,
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Section 3 - Polynomials

Find the degree and number of terms of each polynomial,
1. 14h® + 2h + 10 2. 7y - 10y2 3. 2a? -5a + 34 - 6a*

d?gm: 3(0’“() degrll: a (quadratic) degm-"/ (quartic)
terms: 3 Ferms§: & Forms: 4

Write each polynomial In standard form. Then, give the leading coefficient.
4, 3x2 -2 4+ 4x5 -
¥t 3x-x -2
57-50/+ 3P - 41
- E] S ‘/ j *-50
&€
6. 6k + 5k* — 4k® + 3K

" [k - Y% 3k ® + bk

Classify each polynomial by its degree and number of terms.
7. =52+ 10 8. 8w - 32 + ow? 9. b-b®-2b2 4 5p*

quadrahic quaric N

Evaluate each polynomial for the given value.

10. 3m+8—-2m?® for m = -1

. —of-3 - 2(-1) = - 2 =7
310 +8-2(-1)° = +3hk ¥ 2(-1)= =3+ §+2 3|7,

11. 4y° -6y +8y? - 1 for y=—1

H-1)-6(1) + (021 = 4ED b) #4011 =

M M
=4 v-1=[9]
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12, 2w+ we - -;—wz forw=2
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13. An egg is thrown off the top of a building. Its height in meters above the ground can be
approximated by the polynomial 300 + 2 - 4.9f2 where £ is the time since it was thrown in
seconds.

a. How high is the egg above the ground after 5 seconds? -f_ =5

€
300 + a(5) —4."155)z
300 + a(5) -4.9(25) -
300 + lo-122.5 = U87.5 m 2 +ars

b. How high is the egg above the ground aftEer 6 seconds? .L - ‘0

300 + a(b) -4.906)*
300 + 3,(»1") -4.‘3&3(0) - ?
30+ 1a — Tb.d =[139.0 rm#m)

Section 4 - Adding and Subtracting Polynomials
Add or subtract.

1(om- -3¢ -2 Am-am -3

—

Ff At 7,5 - j0pg +59
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Add.
3. 3Kk -2k+7 4. 5x2-2x43y 5. 11hz® + 3h2? + 8hz
+ k-2 + 6x* + 5x + 6y -f9h23+hzz—3hz
. N : :
3k~ k+3 NX"+3%+ 9y 2002+ 4hz*+ Sh2

]

Yab® + 20} -3a

3 2
Sx7-2x
Subtract.
8. 12d%+ 3dx+x 9. 2/ -3+ -8 10. -y +6ay’-y+a
Z(Cack + 2dx —8x) _ B 2 - 8) _ﬁy& 2a)? + y)
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b 4oR20x # 3% * T byt zay? -y

dtedx 9y VIR 5ydiBayt-zy+a

1. (-2 +8pr-p) (jz;—zpm Sﬂ_\\
b N 4 C -
221 CAI YT
lr* + 10pr - p

12. (un - n? + 2un®) = (3un® + n? + 4un

@0)-n* (2ung-3un9-n 3 4un

—~anZ-un®-3un
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13. Antoine is making a banner in the shape of a triangle. He
wants to line the banner with a decorative border. How long.
will the border be?

14. Darnell and Stephanie have competing refreshment stand businesses.
Darnell's profit can be medeled with the polynomial ¢2 + 8¢ — 100,
where ¢ is the number of items sold. Stephanie’s profit can be modeled
with the polynomial 2¢? — 7¢ — 200.

a. Write a polynomial that represents the difference between Stephanie’s
profit and Damnell's profit. '

b. Write a polynomial to show how much they can expect to earn if they
decided to combine their businesses.
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Section 5 - Multiplying Polynomials
Multipiy,
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13. (1 4&(}2 >y +?) 14, (3m’fﬁn‘az\_‘3m+5) 15, (2x{;)-(2x2-3x+ 1)
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2 0 . _
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16. The length of a rectan
and x is the width).

gle is 3 inches greater than the width (Hint: (x + 3) is the length,

a. Write a polynomial that represents the area of the rectangle.

ALz X(x+3) X"+ 3x

b. Find the area of the rectangle when the width is 4 inches.

X=4 &

A=x"43x = 42430y
o+

Ain
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8 centimeters less than 3 times the width.

L= 3w

17. The length of a rectangle is :
a. Write a polynomial that represents the area of the rectangle. W= AL ot
A= LW = W(3IU"‘ %)
2
= 3w -3wW
b. Find the area of the rectangle when the width is 10 centimeters. W= | 0
2 nA
= 3w - W
= 3(|0) - 3('0)
= 3(100) - F(10) N
= 300 - 30 = A0
18. Write 2 polynomial to represent the volume of the rectangular prism.
V= LW H
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Section 6 - Special Products of Binomials . 1.3 I\ 3
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(2x5)(2X+5) (30:+2) (30+2) (g 5b) (0+50)
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7. (b-3) 8. (8- yP 9. (a— 102 |
- - _ -10

gbz ;z’[f.;:lq (8"Y)(g'Y) . (ﬂ ZIO?O(Z !0)Q+ 100
. ——"] pY-dy-Byty” a - V%
b=6b+? ) py-eyeyd [a*-202+ 100

10. (3x— 7)? 11.@m —op 12. (6 - 3n)2

(3%-1) (3x-1) (4m-9)(4m=~9) (o-3n)(-3n)

18 -18n+9n°
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13. (x+ 3) (x-3) 14. B+ y)(B-y) 15. (x + 6) (x — 6}

x>-3x+3%x=9  LH-Tyrdy-y* X pxrlex-30

IX"—-‘” -y “+b4 !x’:.3|,

16. (5x + 2) (5x - 2) 17. (10x + 7y) (10x = 7) 18. (3 + 3y) (x* - 3y)

K 2
A5% =10x+10x=9 oo x=70Xy +70xy  y 4. 3x*y +3x% _9Y2

2 -4gy?
1075)( 4 IIW Y }x‘{_qy7

19. Write a simplified expression that represents the...
a. area of the large rectangle.

(btx)(v=X)
3l ~x+lx -x*

2
1-— X + 3b|
b. are: e small rectangle.

(a+X) (2-X)
Y42x-2x =X*2

(~X*t3b) -@r“ )
X430 4 x%- y




e
e small rectangle is made larger by adding 2 units to the length and 2 units to the width
What is the new area of the smaller rectangle? /

(3'**2‘)(2“\-;1) L
(4-X)(4+X) = l(,+llx-4x—x2 -,'X Hb_J

b. What is the area of the new shaded area?
large arts - new Small

(-X*+30) = (T+3X*)
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